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POLITICAL SCIENCE
( Major )

Paper : 4.2
( Public Administration—II )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

et fAaCaTRd ot Teg forsi -

(a) By which Civil Service Act the ‘spoils
system’ was discarded in favour of the
‘merit principle’ in the United States?

IART TSR @I SPIHEE Ol SR
QRIS FACTH 091 ‘M- [IFN I A
et 2
(i) 1883/>vve
(i) 1857/>vreq
(i) 1887/5vq
( Choose the correct one )

( o TEao! A Sferedr )
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(2)

(b) Under which Article of the Indian
Constitution the President of India
causes the Annual Financial Statement

to be 1laid before the Houses of
Parliament?

ST RRFYFT @ ST SR SReq
ABASIY qaerem [Fem RIS Avme wiRke
PN 9T FI ?

(9 Who is the author of the book, The
Ecology of Public Administration (1961)?
The Ecology of Public Administration
(1961) TF =g RS I 2

(i) Max Weber/@3 @@

() Fred W. Riggs/@&¢ Sfc. [

(@) L. D. White/4e. fS. (A0
( Choose the correct one )
(= eIl Al Sfye )
The institution of ombudsman was first
introduced in Sweden in the year

RXCCE TR AfSBTol A9 S Cafe
T 57% 9

(d)

() 1808/svov

(@ 1809/sv03

(@) 1810/sv30
( Choose the correct one )

(8% TSIC0! I Tferear )
( Continued )
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(3)

(e) Mention one mean of judicial control
over public administration.

PGS el fPREeE ol

wfeen Seay
() Write one difference between
development administration and

non-development administration.
Ror PP SE S-RIpT PP &S A9
@1 e T4 |

(g) Accounts have been separated from
audit at the union level in India since

SHes @a Ee BRI R AT
- Q1 Toere 91 R
(i) 1970
yq0 B9
(i) 1971
54 B9
(iii) 1976
y5aY B9

( Choose the correct one )

(zﬁaiﬁfﬂiTaﬁﬁﬁ#%ear)

() Who appoints the Comptroller and
Auditor-General of India?

e TfEEE S R R @i e
fica 2
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(4)

() Who was the first Lokayukta of Assam?
SR A GRS (1 SR ?

(). 'Mention one advisory function of UPSC.

U @O AR GO o[ R

TCEY F0
2. Answer the following questions : 2x5=10

©e7S i ereaRe Ted for

(@) Mention the four main types of
personnel recruitment tests.
R oM ARwE IR0 77 o Seary 54 |

(b) Distinguish between single budget and
plural budget.
G ICE0 AF A ACHEI WS el
CrY&AT |

() Write two means of legislative control
over public administration.
@R evRe RufAl R 7o Tom
forar |

(d) Write any two features of performance
budgeting.
IETAEEEE AcEsd A @ @Ry
for=m |
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(S)

(e) Mention four common processes of
people’s  participation in  general

~ administration.
YR PO AR @M TS
sifeFan BIROT SCa ¥4 |
3. Write short notes on/Answer any four of the

following : 5x4=20

wod i @I BB 55 (Gt o/ e e

(a) Training for Indian Administrative
Service
TSRO 2PIS CRIN A AT

(b) Principles of budget
- CEHI AR
(c) Main features of Lokpal Bill, 2011

@M e, 0333 1 WREPRR

(d) Mention the three provisions by which
the Constitution safeguards the interest
and rights of the taxpayers.

FRE Feree T WF @SR T
fial Provision {61 ey <541 |

(e) Procedure of removal of the UPSC
President and members
@I EFORI S ST S TR
PR &S

() Changing perspective of accountability
THREeN RIS T
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(6)

4. Answer the following questions : 10x4=40
Soo i 2PICATee Oed ford
(a) Discuss the importance of seniority

(b)

8A /987

principle of promotion as compared to
the merit principle of promotion. 10

AHS IRTR @IAeT TS (TSl AT
LY HCADAT F4T |

Or / 91

What is meant by civil service? Discuss
the importance of civil service in modern
State. 3+7=10

SR cm W o JEw? TEE qEe
SRS CRR @Fg ScEn 91 |

Discuss the procedure for the
enactment of budget in the Parliament
of India. 10

SRS HOTS G o 91 TANC0] S|
41

Or / 941

What is performance budgeting? What
are the merits and difficulties of
performance budgeting? 3+7=10
IEOTATTER e 7 FETARELERR
qACEBT B A SR &, 7= |

( Continued )



(7)

(¢ What do you mean by development
administration? Discuss the scope of

development administration. 3+7=10
R =PF WieT 7 3@ 7 R 2P <R
H[CeoA1 41 :

Or / JAT1

Define bureaucracy: Discuss the role of

bureaucracy in developing countries.
3+7=10

e kel far St qge
CAETOZT ST SCATGAT 47 |

(d) What is the need of executive control
over public administration in a
parliamentary form of government?
Discuss critically the various means of
executive control over public
administration. 3+7=10
IS &S TR I3 EIRL P SIS
IR FER R awmem? e
e IR FagR Rfes Somemz |

FHICATDAREASF SACOAT 47 |

Or / Al
What is RTI? Discuss the importance of
RTI in redressal of public grievances. 10

RTI 7 o=@ S@EPER RIET (Faqe
RTIR SFF WAL 341 |
* Kk
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